
a)​Y=    cuando  x 5  𝑥2−𝑥−20
𝑥−5 →

        Lim                                          Lim (x+4) = 5+4=9  𝑥2−𝑥−20
𝑥−5

      X 5                                                     x 5 → →

     y=                                           lim (x+4) =9 
𝑥2−𝑥−20

𝑥−5

     (X²-x-20)=(x+4) (x-5)                          x 5 →

     Y=  
(𝑥+4)(𝑥−5)

𝑥−5

     Y=x+4 

 

b)​Y=      cuando x ∞ 
4𝑥3−5𝑥2+6

7𝑥−3𝑥2+9𝑥³
→ 

Lim  =  4𝑥3−5𝑥2+6

7𝑥−3𝑥2+9𝑥³

4𝑥3

𝑥3  − 5𝑥2

𝑥3  + 6

𝑥3   

7𝑥

𝑥3  − 3𝑥2

𝑥3  + 9𝑥3

𝑥3

 

 =  = 
4− 5

  𝑥  + 6

𝑥3  
7

𝑥2 − 3
𝑥 +9 

  

=  =  =  = 0.44 
4 − 5

∞  + 6

∞3  
7

∞2   − 3
∞  + 9

4−0+0
0−0+9

4
9

 
 
 

 


